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+ Ideatify the kingdom to which the organism belguge

' b) State advantages of closed circulatory system over open circulatory system,

(1 mark)
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- Name the structures labelled X (1 mark)
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Identify the type of nutrition carried. out by the organism and give a reason (Zma:kb)
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#) State the phylum where all moembers have open circulatory systen. ' (1mark)
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Explain why malaria cannot be transmitted through blood transfusion. (2 marks)
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Explain the observation made (2 marks)
e losuce..eliel ot drewon . Criraeder itee Ol
Q0o .. 28kence  ar 2. Locafed  on 108....cleelomen.

%Wq)‘onaﬁ'pfmc/ﬂmﬂ“— i hqu/ :
Expla.i.n whv maloria d{aet-g l Bronsh-p ransfucig

- Plavmrscliym, 4ast... unclergine Mutaton., [mubarer
Wnadffdofurewu*ﬂ”@o{w/v/w&n ol 8.2,

QL"’”,‘L.-"‘,_..___ ' s 05 e



w shows an experiment that was camed out to investigate 2 certain biological

. The diagram belo
process. Study it an anSWCr the questions | 'below
1. BT

bark
&) What is the aim of the experiment? - (1markj
7? ....... Inved&aate... Feanslog k.. 606{ g‘opa( Gy brancel),
b) Name thc tissue rem edmthe sbove expenment? (lmaxk)
?h e
&) State how the above—namcd tissue is gu—uctm‘ally adapted toits funcuon? {2sharks)
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. (a) Name the-protrusions found on the posterio
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formed in (2) above, and state its functions. (2 marks) -

(b) Give the namé of the joint

Joint: 1!'16. ...... Q.(R.t?. ....................
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3. Explain natural sclection using principles considered by Chaﬂes Darwin. (4marks)
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State the condition necessary for the reactl
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10. Study the diagram below and answer the qucstions-that‘follows e -
SRR E
a 1dentify the parts labelled B, C 2nd D. (3marks)
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1. State the adaptmon of part A to function. (2marks)
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11. The diagram below shows the position of an image fo
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(a) Name the defect

efective eye.

{b) Statc how the defect named in (2) above can be co;
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(¢) Draw a sketch, to demonstrate how the above condition is corrected.
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the table below.
Solution | Initial length of stem (mm) Final length of stem (mm) j

A 37 37
2 g;i 36.7

2) Identify the nature of solution A, = (1mark)
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b) Account for the observation made m squ‘aonB ------------------------------ ( 2marks ) ------
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made on the stem in solution C.
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13. Study the diagram below and axjswer the questions which follow.
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g) Identify the muscle represented by letteré. AmdB

. 1 mark)
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(b) Name the joint C ' (1 mark)
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(c) Name parts label D, E and F (3marks)
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14. State the effects of over secretion of thyroxine hormone . -
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15. Differentiate between simple reflex end conditioned reflex action. (3marks) |
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16. Describe the mechanism of closing the stomata on the basis of photosynthetic theory (4 )
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17. An mvcstxgatwn was carried out on & ma.mmahan lnducy
T
2) Name the gland labeled T. (1mark)
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b) What is the function of the structure named in () above in the lndney (1mark)
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¢) Identify the discese shown in the kxdney above. {(1mark)
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d)Giving cxmples state ways in which biological nitrogen fixation is carried out. (2marks) ’(lﬂj ot
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18. The diagram below represents a certain organism collected by a student at the sea sﬁofe

(1mark)

b. State thc obscrvable features that enables the above organism adapt to its habitat.
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19. What is the importance of seed dispersal?
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20,-ﬁc diagram below represents 2 section through the mammalian ear.
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a)Namethc structures labelled R and T. . (2 marks)
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b) Statc how the structures S 1s T.BdTDﬂS functions. (2marks)
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c. state the functions of su-ucmresQandT . (2ma;ks) )
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21. State three aspecis thatcanbc estimated in living organisms. (3 marks)
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22. (2) Define the Incomplete metamorphosis. (tmark)
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(b) State one fanction of each of the following hormones (?.mmrkS)
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